

H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture

(Implemented by H.P. Natural Resource Management Society) District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423. Email Id: dponhn@gmail.com

No. 810	Dated:	14-08-2023
То		
R/O (Karanjeet Singh Jawahi PO Kuffer Kaira Nohra Distt. Sirmaur (HP)	
Dear Sirs,		
maintenance of plant the contract price of accepted by us. You a	ation I st year DLT Job No R-1/M Rupees 166680/-(One Lakh Sixty e also requested to sign the agre	ation dated 10-08-2023 for execution of the aint./1st Yr/DLT/23-24 for the year 2023-24 for Six Thousand Six Hundred eighty only, is hereby element form and proceed with the work not later APO Rajgarh and ensure its completion within the
	e issuance of this acceptance let t, for the above said work, stands	ter and your furnishing the required Performance concluded.
		District Project Officer (IDP). SIrmaur at Nahan
Endst.No.DPO/NHN/		Dated, Nahan the/
to provide/ Show sit in stipulated period	e for subject cited work to the co under intimation to this office.	favour of information and N/action. He is directed ontractor and get the work started/completed with Please note that detail of labour engaged by the of start /completion of work, date of measurement

of work, should be mention / enclosed with the bill of work.

District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of plantation under APO Rajgarh Job No R-1/Maint./22-23

Sr.No	Particulars of work	Unit	Qty	Approved Rate	Amount
1.	Re-digging of pits size 45x4 5x45 cms.	NO.	3630	10/-	36300.00
2.	Filling of pits 45x45x45cms	NO.	3630	8/-	29040.00
3.	Planting of plants raised in P/Bags	NO.	3630	8/-	29040.00
4.	Carriage of plants in polythene bags from Khery Nursery to road side to plt. Area road side by mechanical transport lead including loading/ unloading.	Trip	6	6000/-	36000.00
5.	Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1 Km by manual labour	No./KM	3630	10/-	36300.00
			Total		166680.00

Sirmour at Nahan



H.P. Forest Department INTEGRATED DEVELOPMENT PROJECT (IDP)For



Source Sustainability and Climate Resilient Rain-fed Agriculture (Implemented by H.P. Natural Resource Management Society)
District Project Officer, (IDP), Sirmaur at Nahan, Tel & Fax: - 01702-222423.
Email Id: dponhn@gmail.com

No	312 Dated: $14 - 8 - 23$
То	경험을 보고 있는 것 같습니다. 이 라는 이번에 가장이 되었다. 그런 그런 이 경험에 가장하는 것 같습니다. 그는 것 같습니다. 그런 것 같습니다. 이 성을 하는 것이 되었다. 그런 그런 이 사용 보호를 보고 있는 것이 되었다. 그런
	Shri Jagdish Kumar VPO Sangna
	Teh. Renuka Distt. Sirmaur (HP)
Dear S	
price	This is to notify you that quotation dated 10-08-2023 for execution of the maintenance ation 1 st year DLT Job No R-2/Maint./1 st Yr /DLT /23-24 for the year 2023-24 for the contract Rupees 366617/- (Three Lakh Sixty Six Thousand Six Hundred seventeen only, is hereby by us.
	You are also requested to sign the agreement form and proceed with the work not later ays under the instruction of the Project staff, APO Rajgarh and ensure its completion within the period.
Securi	With the issuance of this acceptance letter and your furnishing the required Performance the contract, for the above said work, stands concluded.
	District Project Officer (IDP). SIrmaur at Nahan
Endst.	Dated, Nahan the/
contra	Copy forwarded to APO Rajgarh for favour of information and N/action. He is directed de/ Show site for subject cited work to the contractor and get the work started/completed with ated period under intimation to this office. Please note that detail of labour engaged by the or duly verified by the work in charge, date of start /completion of work, date of measurement should be mention / enclosed with the bill of work.
	District Project Officer (IDP) Sirmour at Nahan.

Schedule of quantity for Maintenance of plantation under APO Rajgarh Job No R-2/ Maint./22-23

Sr.No	Particulars of work	Unit	Qty	Approved Rate	Amount
1.	Re-digging of pits size 45x4 5x45 cms.	NO.	5940	13/12	77933.00
2.	Filling of pits 45x45x45cms	NO.	5940	8/-	47520.00
3.	Planting of plants raised in P/Bags	NO.	5940	7/-	41580.00
4.	Carriage of plants from plt. Road side to plantation area pit to pit avg. lead 1 Km by manual labour	No/Km	5940	8/-	47520.00
5.	Supply of P/Bags plants 5'X9", bamboo, Salix minimum height of plant 1.5' age 1.5-2.0 year.	NO.	5940	25/60	152064.00
		a referencie de sila companie de virgo de cida e aministra agente aperane.	Total		366617.00

Sirmour at Nahan